
Please don't tighten the screws completely and 
go back later for a final tightening of all the screws           
after pieces are aligned with each other.



Parts List(EN) / Teile Liste(DE)

1/18

1

2

3

4

5

6

7

8

9

10

11

12 13

14

15

16

28

C

26

21

18

19

17

25

22

24

20

27

29

12

14

15

19

19

19

17

18

20

25

2

12

12

11

13



Parts List(EN) / Teile Liste(DE)

1 bed head box

2pc

Right bedside ear5

1pc

11

13

2pc

Left Bed Ear4

1pc

Right front bedside

1pc

Left front bedside

1pc 1pc 1pc

10

1pc

backrest cushion

1pc 1pc

12

14

4pc

2pc 2pc

15

2pc

bed slats

foot of the bed rear iron frame front iron frame

head and tail iron frame rear middle beam front middle beam

2 3

6

7 8 Left rear bedside 9 Right rear bedside

2/18



16 17

2pc 2pc

26

1pc

Parts List(EN) / Teile Liste(DE)

20

4pc

22

27

1pc

18

19

2pcs

28

4pc

29

21

2423

foot of the bed leg middle iron frame leg bedside leg

middle iron frame leg two-hole corner bracket cross bar

 gear lever    Controller

1pc 1pc 1pc

1pc

left pneumatic rod right pneumatic rod

hand - pull strap

1pc

middle cross bar

3/18

1pc

Base fabric25

1pc

LED Light Strip



 36+2pcs

A

 48+2pcs

Parts List(EN) / Teile Liste(DE)

nut

2pc

Innerscrew Innerscrew four-hole corner bracket

 1pc 1pc

B C

M8×15

     Inner allen wrenchD
M8×45
E open-end wrenchF

2pc

4/18

VelcroJ washerK

This part is used with the screw

d=22

 20+2pcs

 46+2pcs



3

5

B

D

Assembly Steps(EN) / Montageschritte(DE)

STEP 1
M8×45

STEP 2

4
B

D

×4

D

A M8×15 ×6

29

A M8×15 ×4

A

D

5/18

The headboard can be
adjusted up and down.

K
d=22

×8

K

K

K
d=22

×6

6 7

20

18

D

A

K



Assembly Steps(EN) / Montageschritte(DE)

6/18

6

D

STEP 3

7

B M8×45

D

×4

B

K
d=22

K

×4

STEP 4

C

A

16

D

10

A M8×15 ×8

D

C ×2

K
d=22

×8

K

K

First Second



Assembly Steps(EN) / Montageschritte(DE)

STEP 5

89

D

A
C

20

A

D

10

A M8×15 ×8

D

C ×2

7/18

K
d=22

×8

K

K

STEP 6
D 20

A

18

A M8×15

D

×6

K
d=22

×6

K

First

Second



Assembly Steps(EN) / Montageschritte(DE)

8/18

STEP 7

21
20 D

18

21

M8×15

D

×2

A

A

27

26

STEP 8 A M8×15

D

×6

Since the hole spacing of the hydraulic  rod  
is relatively large, it can be adjusted  left  
and right during installation.

K
d=22

×6

27

A

D

26

A
D

K



Assembly Steps(EN) / Montageschritte(DE)

STEP 10 A M8×15

11

12

13

13

12

D

E

×8

E

B

D         

E           

F

×8

M8×45 ×8

F

A

A

B

B

B

B

A

A

9/18

Attach the Velcro on the base fabric in three directions
to the inside of the foot of the bed frame.

25

STEP 9

11

12

12



Assembly Steps(EN) / Montageschritte(DE)

STEP 12

19

B

15

19 14

D

B

B

19

19

17

14

15

D

B M8×45STEP 11
D

×4

×2

×2

10/18

B M8×45

D

×4



Assembly Steps(EN) / Montageschritte(DE)

STEP 13 B M8×45

D

×8

E

F

×8

B M8×45

D

×4

E

F

×4

11/18

bedside

E F

D

B

STEP 14

Pay attention that the holes should face downwards



Assembly Steps(EN) / Montageschritte(DE)

STEP 15

Install the handles and the
retaining bars

28

22

12/18

STEP 16

J

J

Stick the Velcro from the 
middle to both sides



Assembly Steps(EN) / Montageschritte(DE)

STEP 17

13/18

2 2

STEP 18

Put down

1STEP 17

Align the zipper at the back of the back           

cushion with the zipper on the headboard,           

and then attach it.



Assembly Steps(EN) / Montageschritte(DE)

STEP 19

14/18

26 27

F

×4

×2

The screws of the gas pressure 
rod need to be tightened

The thin end faces upwards



Assembly Steps(EN) / Montageschritte(DE)

STEP 20 24 ×1

15/18

Stick the light strips on the underside 
of the two sides of the bed

J

J

Plug the light strip interface into
the headboard of the bed



Assembly Steps(EN) / Montageschritte(DE)

STEP 21

24 x 1pc

16/18

NOTE: The receiver (X1) needs to be
exposed to air in order to better control           
the LED light.

Remote control
You can use the remote to           
control the light. The LED lamp           
can only be used after the           
power supply is connected.



Assembly Steps(EN) / Montageschritte(DE)

STEP 22

STEP 23

Put the mattress on it.

Use the handle to lift up the pneumatic rod.

Hold the handle and pull the mattress
down. Be careful to place it gently.

17/18

30



Assembly Steps(EN) / Montageschritte(DE)

Installation Complete

STEP 24

Be careful when bouncing up

18/18


	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19

